
仮想的な前回のPCM値(0)

一回目のPCM値(80)

増加方向の
予測変化単位量(+23)

減少方向の
予測変化単位量(-23)

増加方向の予測変化量
(+23×3.5 = +80)

増加方向の予測変化量
(-23×3.5 = -80)

80+23×2.5 =  137

80+23×3.5 =  160

80+23×4.5 =  183

80+23×6.5 =  229

80+23×5.5 =  206

80-23×1.5 =   46

80-23×2.5 =   23

80-23×3.5 =    0

80-23×4.5 = - 23

80-23×5.5 = - 46

80-23×6.5 = - 69

ADPCM値←15

ADPCM値←14

ADPCM値←13

ADPCM値←12

ADPCM値←11

ADPCM値←10

ADPCM値← 9

ADPCM値← 8

ADPCM値← 7

ADPCM値← 6

ADPCM値← 5

ADPCM値← 4

ADPCM値← 3

ADPCM値← 2

ADPCM値← 1

80+23×1.5 =  114

80+23×0.5 =   91

80-23×0.5 =   69一回目のPCM入力値(75)


